Review of the Circumference/Diameter Ratio
For parts 1–7, leave your answers in terms of 
[image: image9.emf].

1.
If r = 10.5 cm, find C.
2.
If C - 25
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 cm, find r.

3.
If C = 9.6
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 cm, find d.
4.
If d = 12 cm, find C.

5.
What is the circumference of a circle whose radius is 30 cm?

6.
What is the diameter of a circle whose circumference is 24
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 cm?

7.
A square with sides that measure 2 cm is inscribed in a circle. Find the circumference of the circle.

For parts 8–13, round your answer to the nearest 0.1 unit. Use the symbol 
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 to show that your answer is an approximation.

8.
If d – 9.6 cm, find C.
9.
If r = 8.1 cm, find C.

10.
If C = 132 cm, find d and r.

11.
A plate fits snugly in a square box with perimeter 96 cm. What is the circumference of the plate?

12.
Four saucers are part of the same set as the plate in question 10. Each saucer has a circumference of 31.4 cm. Will the four saucers fit, side by side, in the same square box? If so, how many cm will there be between the saucers for padding?
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13.
DE and DF are tangents. DE = 12 cm.
14.
How can you use a large carpenter’s 


What is the circumference of circle C?

square to find the circumference of a tree?
15.
In order to increase the circumference of a circle from 16
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 cm to 20
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 cm, by how much must the diameter increase?

16.
When a rock is dropped into a pond, a circular wave front spreads out from the point where the rock hit the water. If the wave moves out from the centre at 0.8 m/sec, find the length of the wave front after 3 seconds. Round your answer to the nearest 0.1 m.
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